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The difference between hybrid and Luarlw exceeds five percent.
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LUARLW Hybrid
\KE ( GeV) Ehad (%) Ehad (%) Arel (%)
2.2324 64.45 64.50 -0.09
2.4000 67.29 67.62 -0.49
2.8000 72.25 73.16 -1.25
3.0500 73.91 74.54 -0.85
3.0600 73.88 74.54 -0.90
3.0800 73.98 74.11 -0.18
3.4000 74.81 75.19 -0.50
3.5000 75.32 75.88 -0.75
3.5424 75.58 76.17 -0.78
3.5538 75.50 76.23 -0.97
3.5611 75.50 76.27 -1.02
3.6002 75.73 76.52 -1.05
3.6500 76.00 76.89 -1.16
3.6710 76.11 77.11 -1.30

A significant change in Luarlw from 3.67 to 3.85 compared to

the low-energy region.
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Taking 3.915 GeV as example

Comparing the ncharge
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Taking 3.915 GeV as example
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Comparing the ncharge
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Taking 3.915 GeV as example

Cut-Flow hybridN luarlwV lnarlwU

Vi ()| Mg e (0| N e(h

Total Events 500000 500000 500000
Veto Bhabha 499208  99.84 | 499036  99.81 | 499000  99.80
Ngood 2 1 478118  95.78 | 457810  91.74 | 457775  91.74
Total 50487 10.56 49801 10.88 48981 10.70
N 1 Eiot > Epeam 18800 37.24 21182 42.53 20936 42.74
good Nyo>1 15595 82.95 15024 70.93 15062 71.94
Balance € (0,0.75)| 13779 88.36 10937 72.80 10855 72.07
Total 96626 20.21 107164  23.41 104897  22.91
Ngood = 2 A & A¢ 93952 97.23 99993 93.31 97622 93.06
Nisogam = 2 75671 80.54 72647 72.65 71022 72.75
Total 91805 19.20 80975 17.69 80214 17.52
N _3 A & A¢ 88271 96.15 76283 94.21 75615 94.27
good N(E/P>08)>2 85288 96.62 73947 96.94 73263 96.89
N(rpig > 0.25) > 2 | 83583 98.00 72497 98.04 71865 98.09
Ngood = 4 239200  50.03 | 219870  48.03 | 223683  48.86
Final Events: Ngooq > 1 239200  47.84 | 219870  43.97 | 223683  44.74
Final Events: Nggoq > 2 225421  45.08 | 208933  41.79 | 212828  42.57
Final Events: Ngood > 3 149750  29.95 136286  27.26 141806  28.36




topology of different ncharge in mctruth

Luarlw
ncharge=0 ncharge=2 ncharge=4
channel events ratio(%)  total ratio(%)  eff(%) channel events ratio(%)  total ratio(%)  eff(%) channel events ratio(%)  total ratio(%)  eff(%)
a2y 811 10.06 0.16 1.11 atn 36763 24.79 7.35 0.24 37021t 2 14430 8.10 2.89 98.80
37" 808 10.02 0.16 2.48 K*K~ 7505 5.06 1.50 0.44 272" 21~ 10064 5.65 2.01 94.73
470 730 9.05 0.15 2.33 27t 6225 4.20 1.25 75.42 | m'm K'K™ 7914 4.44 1.58 81.35
22°K? 667 8.27 0.13 0.75 Antn 5564 3.75 1.11 29.06 2nt 2 5957 3.34 1.19 86.10
nit 645 8.00 0.13 0 37t 4177 2.82 0.84 91.50 | a’7*x K*K~ 5835 3.27 1.17 90.61
K'K? 404 5.01 0.08 0 Kin*K~ 3954 2.67 0.79 12.57 n2nt 2 4167 2.34 0.83 87.71
Hybrid
ncharge=0 ncharge=2 ncharge=4
channel events ratio(%)  total ratio(%)  eff(%) channel events ratio(%)  total ratio(%)  eff(%) channel events ratio(%)  total ratio(%)  eff(%)
21°K) 437 9.45 0.09 0 ntn” 27615 23.20 5.52 1.45 2727t 2 19777 9.98 3.96 97.60
nit 171 3.70 0.03 0 e 11681 9.81 2.34 65.86 2nt 20" 8288 4.18 1.66 88.02
212y 157 3.40 0.03 4.46 it n- 5374 4.52 1.07 26.20 | A'7'n K*K~ 6867 3.47 1.37 97.80
3n"2y 145 3.14 0.03 5.52 3n0ntn” 5412 4.55 1.08 95.10 a2 28" 4557 2.30 0.91 99.01
3n°KkY 136 2.94 0.03 14.7 K'K 2851 2.40 0.57 179 | n'a K'K” 4437 2.24 0.89 84.08
50 101 2.18 0.02 3.96 ete” 1421 1.19 0.28 0 320t 20" 3594 1.81 0.72 98.04
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